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First, one example is the manner in which they have
historically been incorporated into structural designs. The
karesansui (dry landscape) garden at the Zen temple Ryoaniji
in Kyoto illustrates such a use. Its surface may look
completely level, but actually, it inclines towards the garden’s
south-east corner. Also, the west-side earthen wall is slightly
higher at its northern end. These factors create an optical
illusion that makes this surface look deeper. This effect is the
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Lesson 1 Potential Uses of Optical lllusions Paragraph 1-3 (P.20-21)
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Look at the illustration below.
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Look at the illustration below.

Lesson 1 Potential Uses of Optical lllusions Paragraph 1-3(P.20-21)

What do you see?
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Before Reading

ListeningZ 7 a1

Questions || meemmann |‘

“.- 1. Which line does Josh think is longer?

A. The horizontal line.
B. The vertical line.
C. He thinks they’re the same length.
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The karesansui garden at Rydanji A three-dimensional sign
A house with an extremely high ceiling Three-dimensional crosswalk designs

a. D:Make space bigger

(@:Show something important, or to be careful
b. @D:Show the artistic beauty (@:Surprise people
c. D:Prevent traffic accidents (2 :Make sop” N\

®: Make somethi,ng look more spacious HFZED Questions, Overview,
@: Attract people’s attention Comprehension, TRUE OR FALSE %
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Features:
(451)
- There is not much difference between men and HREZOOREEE

. mc:men. { £t q ) PowerPoint £
e percentage of teenagers and younger is EAEATEE T

particularly large. e

- The older they get, the more their population Yk
decreases. &
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Final Task
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At supermarkets, fruit is put in nets and
sold. For example, oranges are put in a red
or orange net. Why are they put in a net
similar in color to the products themselves?
It is because it makes the products look
better and more delicious. It is an optical
illusion.
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